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PIEED f H30.9.5 023 | EwkO - - 24 - - - - - - 10 73.3 350 3,600 [EEE 61 B 15 7 DX 154 41
HOVHE | H30.95 014 EwkO - - 38 - - - - - - 10 66.8 370 3900 [fEER B HE R X i
BHR(F) fitl H30.9.6 013| EwkO - - 43 - - - - - - 12 61.4 360 3,500 [E&E 61 B 15 7 DX 154 41
BT | H30.95 025 | EwkO - - 71 - - - - - - 12 64.2 330 3400 [fEER B HE R X i
2250 (F) f H30.9.6 010 EwkO - - 41 - - - - - - 12 65.5 270 2,700 [BE 2 61 B 15 7 DX 154 41
AR | H30.9.6 011 EwkO - -[_100BLE - - - - - - 11 65.2 350 3700 [fEER B HE R X i
HEE fi | H309.6 0.13 | HEwkO - - 73 - - - - - - 12 72.3 370 4200 [fEE 8 B H HE R X 15051
el i | H309.6 011 ] EwkO - - 21 - - - - - - 12 66.1 360 3,800 [fBER B8 H 15 R X 19
ER fi | H309.6 011 HEwkO - - 71 - - - - - - 10 77.1 430 4700 [fEE 8 B H HE R X 1551
ERA(F) i H30.9.6 014 EwkO - - 10 - - - - - - 12 791 320 3,300 [fEE 8 B R X i
=BT fi | H309.7 0.10 | EwkO - - 44 - - - - - - 10 72.0 190 2300 [fEE 8 B H HE R X 1551
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Z2H5H fi | H309.6 i 0.13 | HEwkO - - 68 - - - - - - 10 635 350 3700 [fEE 8 B H HE R X 1551
AE | H30.9.6 [ 014 EwkO - - 43 - - - - - - 12 68.9 310 3300 [fEER B R X i
T | H30.97 ) 007 | EwkO - - 42 - - - - - - 12 614 480 4900 [fEE 8 B H HE R X 1551
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